
 Fill in with the correct comparative adjective 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 

 Read the situations and build a sentence. 
            Use the adjective in brackets in the COMPARATIVE. 
      

a) Jane is 26 years old. Ben is 30. ( young ) 

........................................................................ 

b) The Hilton Hotel is expensive. The Holiday Inn is not as expensive. ( cheap ) 

........................................................................ 

c) Lisbon is a large city. London is larger. ( small )  

........................................................................ 

d) A snail is slow. A rabbit isn’t as slow. ( fast ) 

........................................................................ 

 

 Complete the sentences using a COMPARATIVE. 
 

1. John isn’t a very good student, but Tim is  …   than him. (bad) 

2. Tony is always eating but he isn’t  …  as his brother. (fat) 

3. Jane is looking  …  than ever. (pretty) 

4. A dog is  …  than a cat. (faithful) 

5. These shoes don’t fit me. I need a  …  size. (big) 

6. The Queen isn’t as  …  as Bill Gates. (rich) 

7. Non-smokers usually live  ...  than smokers. (long) 

8. Mrs Robinson is   ...   than Mr Wilson. (strict) 

9. The Twin Towers were  ...  that the Empire State. (tall) 

10.  Sarah is  ...  than her brother. (rude) 

11. A holiday by the sea is  ...   than a holiday in the mountains. (good) 

12. It is strange but often a coke is  ...   than a beer. (expensive) 

13. In Canada it is   ...   than is USA. (cold) 

14. The Beatles were   …   than the Spice Girls. (successful) 
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